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CENTRAL ACADEMY, REWA (MP)
PERIODIC TﬁsT-S[ZJ](- 2019-20
c -

subject - Mathematics
Time: 3:00 Hrs ' M.M.: 60

Note -
1- All questions are compulsory.
2- Paper is divided into 4 section A, B, C and D.

SECTION-[A]

(1x13=13]
Q.1 InAABC AB =24 cm, BC = 10 cm and AC =26 cm then find £B.
Q.2 If AABC ~ ADEF, ar AABC : arADEF = 9:25 and BC = 21 then find EF.
Q.3 Find distance of (x, y) from origin.

Q4 Ifind= % then Find CosA.

Q.5 If cos® = a/b find tan®.
Q.6 Ifsin® = cosH, then find value of tan@.

Q7  Find value of ,[(1-sin? f)sec’ 8
Q.8 InAABC, ZC=90 then find value cos (A+B).

Q.9 . 2tan30 )
Find value T—an? 30

Q.10 AD and PM are medians of AABC and PQR such that AD: PM = 2:3 find ar
AABC: arA PQR.
Q.11 The ratio of the length of a tower to the length of its shadow is 1:1 then what is
the angle of elevation of sun?
Q.12 A pole 6 m high casts shadow 23 m on the ground, then what is angle of the elevation of

the sun? ) _
Q.13 Find distance of (4,5) from x axis.
SECTION - [B)

i [2x6=12
Q.14 If(1,x), (5,2) and (9, 5) are collinear then find x, )|

Q.15 Find the coordinate of A, where AB is diameter of  circle whose centre is
(2, -3)and Bis (1, 4).
Q.16 In AABC, DEIIBC if AD =% BD= %2 AB=x42 and EC = x-1 find the value of x.
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Q.17 In AABC, DENIBC and AD : DB = 4.5 then, find the ar AADE : ar AABC.
Q.18 If'sec 4A = cosec (A - 20 find A

Q.19 £C g=1_3_ 2s5ing -3 '
If Cosec lzﬁnd—___,___t:g_s_»_g

Q.20

Q2!

Q.22

Q.23

Q.24

Q.25
Q.26

Q.27

Q.28
Q.29

4sin6@-9¢05g *

SECTION -(C]

Prove that (cosecd-cot g} = 1=c0s8
I+cosg”

[3x5=1 5]

A tree breaks due to storm and broken part bends and top touches the ground

by making on angle 30° with it. The djstance between the foot of tree and the
top is 8 m. Find the height of tree.

D and E are points on the sides CA and CJ3 of AABC, ZC=90 then prove that
AE?+BD? = AB? + DE*.

Find the area of quadrilateral whose vertices taken in order are (-4, <2), (-3, -5)
(3,-2) and (2, 3):

If (1, 2), (4, y), (%, 6) and (3, 5) are the vertices of parallelogram taken in
order. Find x and y.

__SECTION-IDY1.
[4x5=20]
State and prove converse of Pythagoras theorem.

If (x1 y1), (X2 ¥2)» (X3 ¥3) are vertices of AABC then find the coordinate of its

centroid.

In equilateral AABC, D is a point on BC such that BD = %BC. Prove that
9AD? =7AB?,
In AABC DE|BC and ar AADE: ar A AR( s 1: 3 then find BD: AD.

Prove that 239, _cotd
1-cotf [-tang =l+sec.cosecd

https://www.mpboardonline.com

wod aurjuopieoqdur mmms//:sdny



